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Canonbury Home Learning PRIMARY SCHOOL

Year 2/3 Maths "‘\ :
Steppingstone activity A

Lesson 2 —30.06.2020 % _
LO: To Draw Pictograms 1-2 QLA L

1. Use the chart to complete the

pictogram:
Animal Total
Cog 10
Cat 14
Rabhit 12
Fish 16
Pet
Dog

- EEEEE
1
11

| D = 2 animals

Draw a square for every 2 animals.
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Main activity
Complete at least 2 columns, more if you can!

CANONBUIQ
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Create, discover and succeed together

Task1 Task 2
Practice Practice
Complete the missing information: Complete the missing information:
1.
Mumber of Library Books Borrowed Favourite

ksidoys [AAAAAA

ksicis AAAAAAA

Ks2 Boys | /\ /\

ks2 Girs | /\ /\/\/\/\

Pets Number of Pets Treated

Dog

N

Cat

Rabbit

HEE
]

Snoke

Eruit Number of Children

Banana . . . . .
| | | |
Grapes .I
Pear .

Sport Number of Children

Footbat | I TIUIITRUNUTH
Rugby | ] I M T P
Tennis [H“H”HJ

Athletics | [}]

Sport Number of Children

Football (@@ @ ¢
rRugby (@@
Tennis . '

Athletics |
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Task 3

Task 4

Reasoning
Explain your answers.

5a. Ed is drawing a pictogram to show
Year 2's favourite drinks.
Number of Children

@ =10 children

Drinks
Orange . .
Cola .

Water

mik | @Od

Ed says,

| must draw 30 circles to show ;e

30 children like water.

» Is he cormrect? Explain your answer.

No, 1 image = 10 children, so Ed must draw 3
images.

5b. Olivia is drawing a pictogram fo show
Year 2’s favourite playground games.
Number of Children

Games = 2 children
Football | D @ @ @
Skipping

hopscoict| @ @ @
oo | @@

Olivia says,

| must draw 10 circles to show
20 children like skipping.

_»_ls she correct? Explain your answer.

No, 1 image = 2 children, so Olivia must
draw 10 images

Problem solving

8a. Riley is drawing a pictogram to show
30 of his friends’ favourite superheroes.

Superheroes Number of Children

Super Cat . . . .
Bat Dog .. ‘
Iron Boy . . . ‘

Green Girl

Riley says,

[I must draw 1 circle to show 'ID}A;

children prefer Green Girl. <

Is he comect? Explain your answer.

No, 1 image = 2 children, so Riley must draw 5
images

6a. Evie is drawing a pictogram where

@ =5 children.
Type of Shoe Number of Children
t: QOO0

Trainers

sehoctshoe: (D QP OO @ @

sandals

Evie knows more children wear frainers
than sandals, but fewer children wear
frainers than boots. How many children
could wear trainers? Complete the
pictogram.

Various answers, for example:

Shoe Type Number of Children
P =& children

Boots |OOOO
Trainers ...

Sehool 1OOOOO0O
Sandals ..

6b. Jakub Is drawing a pictogram where
=10 children.
Humier of Children

Cattage

Tenaeod House

Fial

Jakub knows mare children live in o flat
than live in a cottage, but more children
live In @ cottage than a teraced house.
How many children could live in a
/> cottage? Complete the pictogram. _

Various answers, for example:

Accommoda- Mymber of Children
fion gn = 10 children
Detached G
House
Cottage ..‘

Termaced ..

House

Flat OO0

7b. A class is collecting information.

3 fewer children like broccolithan ]
carots.
7 fewer children like sweetcorn
than broccoli.

ﬂé 2 more children like carrols than ]

peas.
15 children like peas. @

Create a pictogram to display this
information using the fewest number of
images possible. Remember you can use
half images.

Various answers, for example:

MNumber of Children
Vegetable . = 2 children

Broccoli .... ...

carcis 9 O000OO O

Sweetcom . . . ‘

Peas 9000000
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